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COST ANALYSIS AND CONTROL
PAPER IV

Time 3 Hours] [Max. Marks : Regular 85 / Private 100
[Min. Marks : Regular 28 / Private 33
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This question paper is meant for all Regular and Private students. Answer any five
questions. All questions carry equal marks. The blind candidates will be given 60
minutes extra time.
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What do you understand by the term Cost ? Explain in short the different element of cost.
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A factory produced 100 units each of commodities X’ and "Y". The cost of production was :

-

X Y
7T Rs, =TT Rs.
979%7 §THET Direct Materials 28,000 © 20,000
TG FwgAT Direct Wages 16,000 10,000
T4 =T Direct Expenses 3.000 2,000
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Overhead expenses are :

(i)  Factory - Rs. 13.000.

(i)  Office - Rs. 7,360.

If a profit of 25% on sales is to be realized, what would be the selling price of each article.
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The product of manufacturing concern passes through two processes A and B and then to finished
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stock. It is ascertained that in each process 5% of the total weight is lost and 10% is scrap which

from processes A and B realises Rs. 80 per ton and Rs. 200 per ton respectively.
ZrAT fafirat & w5 frer € 1 The following are the figures relating to both the processes :

ffer e &y e

Process A Process B
ATRYT (241 %) Material (ton) 1,000 70
AT FF AR (afk 27 =7 #) Cost of Materials (Rs. per ton) 125 200
FATT (F77) Wages (Rs.) 28,000 10,000
FrsTor =72 (#97) Manufacturing Expenses (Rs.) 8,000 5.250
IFTEA (ZA1 H) Qutput (ton) 830 780
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Prepare Process Cost Accounts showing cost per ton of each process. There was no stock in any
process,
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A hotel has a capacity of 200 single rooms and 40 double rooms. The average occupancy of both
single and double rooms is expected 1o be 80% throughout the year of 365 days. The rent for double
rooms has been fixed at 125% of the rent of a single room. The costs are as under :

Variable Costs : Rs.
Single Rooms 110 each per day
Double Rooms 175 each per day

Fixed Costs :

Single Rooms 60 each per day
Double Rooms 125 each per day

Calculate the rent chargeable for single and double rooms per day in such a way that the hotel
earns a margin of safety of 20% on hire of rooms. http-//www.davvonlinc.com
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Calculate B. E. P. from the following information :

(a)  Sales Rs. 1,00,000, Variable Cost Rs. 50.000, Profit Rs. 20,000.
(b)  Fixed Cost Rs. 40,000, P/V Ratio 20.
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Explain the concept of Marginal Costing. Explain characteristics and limitations of Marginal
Costing. :
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From the following data prepare a Production Budget :

T#rsgt Units  gwréat Units  ¥975at Units
X

. Y . Z
T =t Opening Stock 16,000 18,000 24,000
AR fwg Estimated Sales 1,20,000 1,00,000 1,60,000
s#faw =f= Closing Stock 20,000 16,000 28,000
INTEA # HTATT 54T Normal Loss in Production 5% 4% 10%
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Define Budgetary Control. What are the requirements of a good budgeting system ?
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What do you understand by Variances ? Explain their different types.
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Discuss the characteristics of Standard Costing and mention the essential conditions of an effective
system of Standard Costing.
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